Bell Ringer - Solve the quadratic. Leave in simplified radical form.

2x2 - 30 = 168



Bell Ringer - Solve the quadratic. Leave in simplified radical form.

2x2 - 30 = 168
+30 +30
2x° = |98
x* = 19
X = =g

X=I3(\



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

1. 5% - 10x = 120



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

1. 5¢¢ - 10x = 120

Ix?-10x -120=0
5( x*-2x-24)= O
5 (x-L)(x+4) =0

X= (b and -4



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

2. 2% - 4x2 - 30x =0



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

2. 23 - 4x2 - 30x = 0
ax(‘xl-— AX — 1'5) = O
2x (x-5)(x+23)= O

><=O;5 ;'3



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

3. -3¢ -7Tx + 84 =0



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

3. 3x2 - 7x + 84 = 0 ba—quc.
7%{le57 49 - 4(-3)(34)
- b H3+100% = 1057
T+ 32.5 not & porfut
- Square

-6.58 |, 4.5



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

4. X2 - 22 -5 + 10 =0



Chapter 10 Review - Solving Quadratic Equations

Solve the equation. Round decimal answers to the nearest hundredth.

4.(e - 2¢)( 5x + 10)= 0

x (7&-32) -5(x-2)=0
(x-2) (x*5) =0

X=2,={5 o *23y



